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Direction Questions (1-12). There is a number series
following a pattern one place is a left blank. Find the

answer among options.

1. 10000, 11000, 9900, 10890, 9801,

MENTAL ABILITY/ H'&fAa GaraT

(1) 10241 2)
(3) 10929 4)
2. 2, 4 , 11
3 3 21
(H _6 (2)
11
@ 9 4)
17
3 LI HETS 108, s
1 192 )
(3) 147 (4)
4. 480,96, ............., 8,4
(1) 24 (2)
(3) 64 ()
5. 78,56,30,.............
() 0 (2)
3) 6 @)
6. 2, 2,5,18,38,...0ccc0ucunens
(1) 49 (2)
(3) 51 4)
7. 45,54,47,............, 49,56,51
(1) 48 )
(3) 55 ()
8. 3,20,63,144,275,..............
(1) 352 )
(3) 548 )
9. 0-5,0-55,065,08, ...........
(1 01 )
3) 2 (4)
10. 589654, 89654,9654, ...........
(1) 10093 )
(3) 9456 )

10781
10991

(=)

el
ofa 2]

o]

163
99

88
30

20

468
662

0.91

89654
654

fegons (1-12) fegwat &t a3t fest aret 3wt feg fear gt
et g aret 3 Jot fo 3 feasur e it feasu dt S= a3 |

1.

10000, 11000, 9900, 10890, 9801,

(1) 10241 )
(3) 10929 @)
2 54 5 L NN
CRRRLE 21
(H 6 (2)
11
G 2 (4)
17
3,12, 27,4875, 108, 5o o
(1 192 )
(3) 147 (4)
480,96, .............. ,8,4
() 24 (2)
(3) o4 4)
T o A
ik ()
3) 6 4)
2. 25,1398 ..o rniinlld
() 49 2)
(3) 51 4)
45,54,47, ............ ,49,56,51
(1) 48 (2)
(3) 55 4)
3, 20,63,144,275, ...0oc0 e,
(1) 352 )
(3) 548 (@)
0-5,0-55,0-65,0-8, ...........
(1 0l 2)
(3) 2 4)
. 589654,89654,9654, ...........
(1) 10093 )
(3) 9456 (4)

10781
10991

m.—‘
xc:-lu- '--IQ‘

wl"‘"

163

88
30

20

50
52

52
62

468
662

0.91

89654
654




11. 3,6, 15,48, 11. 3,6,15,48,

(1) 192 2) 193 (1 192 2) 193

(3) 194 4) 195 (3) 194 4 195
12. 445,221,109, ,25 12. 445,221,109, ,25

(1 41 2) 46 (1 41 2 46

(3) 53 4) 58 (3) 53 4 58

Directions Questions (13-17) study the letter sense foaemyms (13-17) Wedwt niyet & &=t § yer 395 Bet At

and answer the following. feasugd|
13. ) , babbba, S 3 13. , , babbba, ,a, s
(1) ababb (2) babbb (1) ababb (2) babbb
(3) baaab (4) bbaba (3) baaab (4) bbaba
14. BMX, DNW, FOU, 14. BMX, DNW, FOU,
(1) HPX (2) HPS (1) HPX (2) HPS
(3) HPT (4) GPS (3) HPT 4) GPS
15. B,E,D,F, N ; L 15. B,E,D,F, SHJ, L
(1) M, 1 (2) LM (1) M, I (2) LM
(3) ILN 4) LM 3) ILN (4) IM
16. mnonopqopqrs__ 16. mnonopqopqrs_
(1) mnopqr 2) ogrstu (1) mnopqr (2) oqrstu
3) pqrstu 4) grstup 3) pqrstu 4) grstup
17. 2Z5,7Y7,14X9, 23W11,34Y13, 17. 225,7Y7,14X9, 23W11,34Y13,
(1) 47U14 (2) 27024 (1) 47U14 (2) 27U24
3) 45U15 (4) . 47U15 (3) 45U15 4) 47U15

Direction clue:- (18-23).Find the missing term in  fx3ew ymw (18-23) yus fig &t gt I fagaht A/ mee

place of Question Mark. i

(l) 180 (2) (1) 180 (2)

3) 126 4) 88 (3) 126 4) 88
4 5 4 19. 4 5 4
O OR OINOR O O!
2 3 6 2 3 6
(1) 54 (2) 45 (1) 54 ) 45

3) 35 (4) 33 3) 35 4) 53



20.
) 45
s * Lr 29
15
17 | 21
(1) 16 (2) 14
(3) 10 (4) 8
21.
13| 12 | 5
17 | 15 | 8
25 | 24 | ?
29 | 21 | 20
1 6 v
(3) 8 4) 9
22.
(1) 14
(3) 22
23. J2Z, K4X, 17V,_?7 _HI16R, M22P
(D 1T (¢3) L1IT
(3) L12S (4) L12T

20.
) 45
R Ve
15
17 21
(D) 16 (2) 14
3) 10 (4)
21.
13 12 5
17 1,15 8
25 | 24 ?
29 | 21 20
a 6 @ 1
B 8 4)
2.
(D 14
3) 22
23. 12Z, K4X, 17V, _? _HI6R, M22P
(1) b 0 1 i (2) FAYE
(3) L12S (4) LI2T

Direction (24-27) No./words on the left hand side
of sign:: have some relationship developing same
relationship on the right hand side of sign::
answer the Questions.

24 BC » D=z DE r 2
(1) FG (2) RU
(3) PY 4 SK
25.KS :36L .. Gp : ?
121 _
(H 39 (2) _43
40 49
(3) 289 (4) 16

feeeryns (24-27) fe 3 98 fams . . SR YR MaT/ niyat
fe's a¥t miw & O It wi & foms : : @ AR U Rerfuz
aaa @39 fed |

24.BC : DI :: DE ¢ . 2
(1) FG (2) RU
(3) PY (4) SK
25.KS :38L .. Gp . 9
121
(1 39 @ 43
40 49
(3) 289 @ _16
169 69



26. 76835 : 54613 :: 94328 : ?

26. 76835 : 54613 :: 94328 : ?

(M
€)

52635
81605

(2) 72106
4) 62117

27. IHST : ABHET ;: fagaEg : ?

(1
3)

YIS
IS AET

2) IHTFT
4 g5 AET

fagem (28-31) yust fed Syar g1

(1) 52635 (2) 72106
(3) 81605 (4) 62117
27. Commander :Navy :: Brigadier : ?
(1) Captain (2) Commander
(3) Air-Force (4) Army
Direction (28-31) Find odd one out.
28. (1) Wheat (2) Barley
3) Rice (4) Mustard
29. (1) Coal (2) Petroleum
(3) Natural Gas (4) Bio-Gas
30. (1) 2:4 2) 4:8
3) 10:50 4 8:32
3% (1) 15:63 2) 22:91
(3) 23:95 4) 31:97

Direction Question (32-36) In column I some given
words have their codes II column but not arranged in

the same manner. Find the codes and answer.

32

33.

COLUMN-1I
SAY

SIP

ROTATE
TYRE
YEAR
TREAT
TAPE

TIE

coup

REACT
(1) liphr
(3)  kplih

EASY

(1N plsn
(3) pnls

COLUMN-II
nls

msr
lhhpok
nhpk

nkpl

khlph
pmlh

hrp

moij

)  pkiih
(4)  jkiph

(2)  Inps
(4) Ipns

28.(1) g=d
(3) g8
29. (1) T
(3) ECOEIGINE
30. (1) 2:4
(3)  10:50
31.(1)  15:63
(3) 23:95

fseew yus (32-36) a®H 1 € HEEt @ a@ aan 2 fee fe3

(2) 7

(4) A

(2) Uea®s
(4) afeG-3m
(2) 4:8

(4) 8:32

2)  22:91

(4) 31:97

TsuesHteesdtosassaa @aafet
COLUMN-I COLUMN-1I
SAY nls
SIP msr
ROTATE lhhpok
TYRE nhpk
YEAR nkpl
TREAT khlph
TAPE pmlh
TIE hrp
Ccoup moij

32. REACT
(1) liphr (2) pkjih
3) kplih 4) jklph

33. EASY
(1) plsn (2) Inps
(3) pnls (4) Ipns




oy —-—

34. SOUP
(1) osjm 2) sojm
(3) somj (4) osmj
35. TRACE
(1) hlkip (2) pklih
3) pihkl (4) hklip
36. CURE
(1)  kipj (2)  jikp
3) ijkp 4 pikj

Direction (37-38) Questions A + B means A is the
son of B, A—B means A is the wife of B, A x B means
A is the brother of B, A + B means A is the mother
of B.

37. What does P+ R —Q means.
(1)  Qisthe father of P
2) Qis the son of P
(3) Qis the Uncle of P
4 Q is the brother of P

38. What does Px R+ Q means.
(D) Pis the brother of R.
(2) Pis the nephew of R.
3) Pis the father of Q.
(4) Pis the Maternal uncle of Q.

39. A & B are brothers, C & D are sisters, A's son is D's

brother, How is B related to C?
(1) Grand Father (2) Father
(3) Uncle (4) Brother

Direction (40-41) Questions Read the following and

answer.
Six students A, B, C, D, E and F are sitting on the

Ground A & B are from NEHRU HOUSE while the
rest belongs to GANDHI HOUSE, D & F are tall while
the others are short,A, C & D are wearing glasses while
the others are not wearing glasses.

40. Which short student of Gandhi House is not wearing
the glasses?
(1) F (2) E
(3) D 4) C

34. SOUP

(1) osjm (2) sojm

(3) somj (4) osmj
35. TRACE

(n hlkip (2) pklih

(3)  pihkl (4)  hklip
36. CURE

(1) kipj (2  jikp
(3)  ikp (4)  pikj

faaemyRs (37-38) A+ BHIBHA, BEYITJ, A - BH3BY
A, BEU3aTY, AxBHIBHA,BETIT T, A+ BHIBHA, B
Ciptun ]

37. P+R-Q T aIHIBEI?

(1) Q,PErfuzTdi
) Q,PETUIIJI
(2) Q,P ETITJI
(4) Q,PErgar I

38, PxR+QE E@HIBHEI?

(1) P,RETFITTI
2) p,RETIFIHTTI
3) p,Qerfuzrdi
(4) P,QE WHTTI

39. AFBITIS,CI DI TS, ATTYIIDTITI,BE

casdalforard
(1) orar 2) fuzr
(3) gar (4) gar

fsgem (40-41)uF I T5 fedymst € @3 fe

2 fefowadt A, B,C,D,E & FHes fee 8895, ASBE
i 5fog T€R 3 gaftwt e Rdw T I@R EE I, DI F
XTSI AT 82 AT LTS, A, C3 D 3 Waa St Je 3
ot fan & S naa sdt Saret Jet

40. ardt o@w € faud 8¢ ae ¢ fefenradt & o sdt
Barer get ?
(1) F (2) E
(3) D (Y



41. Which tall student of Gandhi house is not wearing

glasses?
() D (2) E
3) F (4) A

42. A,P,R, X, S and Z are sitting in a row. S and Z are in
the centre, A and P are at the ends. R is sitting on the

Leftof A, Then who is sitting on the Right of P?
(1 A @ S
B X 4 Z

Alka is older than Mala. Gopal is odler than Mala but
younger than Alka, KAPIL is younger than Ram and
Mala. Mala is older than Ram.

43. Whose age is exactly in the middle of five?
(1) GOPAL (2) Ram
(3) Alka (4) Mala

44. Five boys took Part in race, Raj finished before Mohit
but behind Gaurav, Ashish finished before SANJIT

but behind Mohit, who won the race?
(D RAJ (2)
(3)  Mohit (4)

Gaurav
Ashish

45. In a class of 60, where girls are twice that of boys,
Kunal ranked seventeenth from the top. If there are
Nine girls ahead of Kunal, how many boys after his
Rank?

(1 3 2 9
3) 12 4 21

46. Amit is now 6 times old as his son. Four years after,

the sum of their ages will be 43 years, Determine

Amit's Present age?
(1) 30 years (2) 32 years
(3) 34 years (4) 38 years

47. In a row of ten boys, when Varun was shifted two
places towards the left, he become Seventh from the
left end, what was his earliest position from the right

end?
(1)  6th ()  4th
(3) 2nd (4) Ist

41. it aCn faas B fefenraat & waa ot samet Jet?
(1) D ) E
G F 4 A

42, A,PR X ST Zeagagds o is o5I1S W3 Zaeg
f[REIAIPIS I TS TS IR AT YT UR 5 I Ifeape

AAUR TS 85T T
(1 A (2) S
3) X @ z

HEIAT, BT T TS TITUB BT I I UT MBI T 2 )
AU, THIH BT ST T8 T HBTIH T ST T
43, foamet Qe iwt @ fegaad?

(1) JuE (2) I

(3) @I (4) H&T

44. me3fan & Sz gaarfem, aw7, Hfgz T xarug dieoe
3 fue faor| »ifte, AfAg 3 »iar ug Hfoz 3 fug faami

on ogfegag defaor?
(1) TH (2) CIGES
(3) wfag (4) METH

45. 60 fefenraatt €t At fan fee szat, safani 578
eI, R g s QU uR I 178 mes I T 199
FES I nidl 9 BIFAMAT I 3T OAT T (AE'S) T gfe

fa® s3a g=an
( 3 (2) 9
3) 12 4) 21

46. MHZ T MUS USTEB 6 ST ST I MA T TIAS

HHT Had €57 e QHaT eTAZ 43 B 39 13T s ©

Hger e se?
(1) 30°% ) 32H%
(3) 34WE (4) 38HE

47. =nw3fant &t fea sels fevsge S Aqgya R I
s funafenT 72, ST QT R U SRS REE I o
A=ar| ses fegQoufos raur I fags s 3
H?

(1)  6th @  4th
(3) 2nd (4) 1st



Direction Questions (48-49) Find the correct
Group of signs to solve the equation?

48.

49.

50.

51,

52.

53.

54.

55.

24%16*8%*32

< R @ +-=

() -+= 4  x==

ORI X2%3*10

1) +x+= @ -++=
3 +-x= @ -rx=

A is 40 mts. South-West of B, C is 40 mts. South-East
of B, Then C is in which direction of A?

(1) East (2) West

(3) North-East (4) South

Karan &Arjun start simultaneously from 9 O'clock
and 6 O'clock with same speed. In clockwise and anti-
clock wise direction respectively. Where will be
Karan & Arjun after walking for 15 minutes.

(1) NORTH & East
2) South & North
(3) East & West

(4) East& North

Asha is going Northwards, She turns right, Moves
some distance and again turns to her right. After
moving some distance she turns to her left, goes
forward and again turns to her left, Now In which

direction is Asha going. :
(1) North (2) South— West
(3) South (4) West

The Last day of the century can not be?

(1) Wednesday (2) Monday

(3) Friday (4) Thursday

Find the day of the weak on 5th November 19997
()] Monday (2) Wednesday
3) Friday (4) Saturday

At what time between 4:00 PM & 5:00 P.M. hands of
clock will coincide?

4:218 pMm.

1 .91 L
(1) 4.211] P.M. (2) T

919 .~110
4:21=PM. 4:21+ PM.
3) T (4) 21” P.M

faaew yms (48-49) mitaes T8 95 BEt afesw fagt e

sla/gaeT AU B!
48. 24*16*8*32
(1) == 2 -
(3) A 4) X' =
49, 9*7*2%3%10
(1) e ol (2) s
(3) *-X= 4) S g
'50. A, B F 40 Mz e¥e-UeH T8 J, W3 C, B T 40 Hiea
Tye-ygue s, feaC A fanferr e d?
(1) ugy ) ueH
(3) eI (4) 2
51. 95 InEgs fea Al 9 d 3 Wt € REs Mg Wt €t
feq dt Sarwiznd gBe 95 | U=t file 9% T ame a9s
Infous fag gean
(1 EECESICES
) suye3ICae
(3) ygg I UeH
(4) yee 3§39
52. AT €39 fenr €% 7 ot § @ H A UH v It gy gt
Sfoaget I 3 feaRAuR et 3, g9 gdt de Sfoaas 3
goe G yg yR yZ A 3, fRur aset 3 3 feaya uw
HE A I v g faw ferfeaamadt 37
(1 839 ) THT-UsH
3) S (4) UBH
53. FEtErmydt fes faasT adt 3 Aaer?
(1) - gued Q) vew
3) Had=d ) EicErd
54. 552931999 It fesAtuaraar
(1) AHeTg ) e
3) Faded 4) Afs g9
55. HHE 43 5 TH Sa7s Ure It &8 gEit fea ga @ Que

fam i Jeaimt?

@ 4:213pPM.

:91 L
(D 4.2111 P.M. T

4:2190 pv.

3 .21 4
3) 4.2:“ PM. 4 "



56. In which century February will have 29 days from

the following?
(1) 2200 (2) 2300
(3) 2400 (4) 2500

Direction (57-60) A solid cube of each side 8 cms,
has been painted Red, Blue and Black on pairs of
opposite faces. It is than cut into cubical blocks of

eachside 2 cms.

57. How many cubes have only two faces painted?
(1) 8 (2) 16
3) 20 4 24

58. How many cubes have two faces painted red and

black and all other faces unpainted?
(1 4 (2) 8
3) 16 4) 32

59. How many cubes have only one face painted red
and all other faces unpainted?

() 4 2 8
{3) 12 4) 16
60. How many cubes have two faces painted black?
(n 2 2 4
3) 8 (4) None

Direction (61-62) Questions Triangle stands for
Land owned by R, square stands for the Land
owned by T, Rectangle stands for the area where
vegetables are grown and circle stands for the area
where Fruits are grown.

61.  Which Number represents the area that belongs to
both R & T where vegetables & fruits both are
grown?

(1 3 (2 5
3) 6 4 12

56, I& fafint &S fan et fegeaedt € 29 fes d=anr?
() 2200 ) 2300
(3) 2400 4) 2500

fesaen yms (57-60) we e gdq unr 8 it 3, § i ar B ar
fa gar sv& dfopt fomrr, 575, 31 ITB s3I fET Far5®
73¢ UH 3 54T, Arone J feg fer @ 2 it 2 we sea v
FaeaTI

57. asfad e wsgsAe Ut I ISTITTS?
) 8 2) 16
(3) 20 4) 24

58. fad g2 wet IS Ut I F I & JaraI3T Ifemr g
3 @aat & grat & Uit 3 It Jar Bt I?
(1) 4 (2) 8
3) 16 4) 32

59. f&& 2 wet 3 feaun it & Jaratar Ifemr 3 3 Qust

T g ot Ut 3 JEt garsat a7
(1) 4 (2) 8
(3) 12 4 16

60. fdd ecw= s fAgste e U ITBTIara?
(1) 2 ) 4
(3) 8 (4) Fet &dt

faaem yna (61-62) [SaT TB UITEHBT R, T[WATB &7
Waa T 31 mifegars 439 f&9 nadtnt W3 ¥a9 o8 839
feuezGarenieasl

61. R3I T &% faoz wa AU dyer I fAT e 3 Aagdt €8
Gare A In?
(1) 3 (2) 5
3) 6 4) 12




e @©x

63.
64.
65.

66.

62.

63.

Which Number represents the area which belongs

to R alone and where both vegetables & fruits are

grown?
1y 2 2) 3
3 4 @ 5

Direction (63-65) Questions which of the
following diagrams correctly represents the
relation between given three words.

OO
O
3) 4)

BED, WARD, HOSPITAL

SEED, LEAF,ROOT

SEA, MOUNTAIN, ISLAND

Which one word can be formed from the following

Letters.
aabcillnooort

(1) Collapsible (2) Locomotive

(3) Colour fullers (4) collaboration

62. fauzr #a €n 439 § vewer I froer fiee fea@ R

% Rafuz I fAE e 3 Audties Gare A 0s?
(1) 2 2) 3
(3) 4 (4) 5

63. fsgew yrs (63-65) Jorfed aw fozer fee fagsr

63,

64.

65.

foz9 yms feg o2 o {3 maet o Agt méu eon@er
a7 '

(2)
P ©
O
3) (4)

g7, T98, TUIT
gH, U3, 77

It fe'3 oot € vyt 3 fauz feq mae sefenr 77
AFETd?
aabecillnodioirt

(1) Collapsible (2)  Locomotive

(3) Colour fullers (4)  collaboration




67.

68.

69.

70.

TL:

T2

Arrange words as they occur in dictionary.

(1) Pestle (2) Pestilence
(3) Pester (4) Pest

(5) Pessimist

(1) 43152 2 3,4,2,5,1

(3) 5.,4,3,2,1 4) 4,51,2,3

Number of letters skipped between adjacent letters
in the series is in order of 1°, 2°, 3°, which of the

following series observe the rule given above.

EGLO
EGLP

RTWZ
CEJT

(2)
“4)

(1
3)

Arrange the letters so meaningful word form?

R T A O U H
1 2 3 4 5 6
(1) 124365 (2) 634152
(3) 521436 (4) 251436

If you ‘write down all the numbers from 1 to 100
than how many times do you write 3?

(1) 18 2 19

3) 20 4 21

A Total No. of 324 coins of 20 paise and 25 paise

makes asum of Rs. 71. The No. of 25 paise coin is?
(ny 120 2) 124
(3) 132 (4) 200

A certain no. of horses & same No. of men are going
somewhere. Half of owners on their horses Back
while the remaining ones are walking along leading
their horses. If the No. of legs walking on the

ground is 70, how many horses are there?

(1) 10
3) 14

2 12
4) 16

67.

68.

69.

70.

71.

T2

JaT fa 3 neewt et § faansdt € JadtansAad en?

(1)  Pestle (2) Pestilence
(3)  Pester 4) Pest

(5)  Pessimist

(1) 43,152 (2) 3,4,2,5,1
3) 5,43,21 4) 4.5,1:2.3

WA STEHBTEHYIZTBE B IIE 1°,2°, 3 MESHT IS
39 7% fom nigra Rt B3t € yg e

EGLO
EGLP

RTWZ
CEJT

(2)
4)

(1)
3)

waeH @ fe I wiygt I et Aua-Ree §ETE7?

R T A 0O U H
1 2 3 4 5 6
(1) 124365 (2) 634152
(3) 521436 4) 251436

Had At 1 3 100 3 forest fawe T 3t gt fds = 3

& feHar
(1) 18 @ 19
©) 20 @ 21

gz 2afraafaomI2s AT Ta @ TS TaH 71

gue et Gnfeg2s e fas fmaas?
(1 120 2) 124
(3) 132 4) 200

& uF 95 G0 ot mrert fa3 A 30 051 @ust § T
WSS S Wsnwt 3 §3 95 3 gat wrue Wit § 39
g fearad os 1 7o Mits 3 faet st st as 70 83

-

BB W IS IT T TS 1Wfant &t fareFten?

(D 10
3) 14

2) 12
(4) 16




Direction Question (73-74) The sum of the values
of below bricks give the value of the bricks which

fsgenyms (73-74) fan feg feze g8 7 € feeros Gust <t
I 7yt aga Qust It feet Qua w fe'e I Enet dhz et

is above two bricks? 3

4+5=9 4+5=9

x+p=13 X +p=13

120 i
a 4 a 4
c 30 p’ C 30 p’
b 9+x* 13 f b 9+x’ 13 f
p+4 g ¥ p X+p p+d 9 X P X+p
p 4 5 z X P p 4 5 z X p

73.  What will be the value of p? 73. p St T=3M?

45 Ry (2) (1) 5 (2) 6

3) 8 (4) (3) 8 4 9
74.  Find the value of y? 74. y €SI U3TIG?

1) 25 (2) 45
2) 45 (
) =3 (2) 3) 55 (4) 65
3) 55 (4) 65

Direction (75-76) Questions are given below with
statement followed by conclusions. You have to
decide which of the given conclusion follows from
the given statements, disregarding commonly
known facts.

75. Statements:-
Some kings are Queens.
All Queens are beautiful.
Conclusions:-
L Allkings are beautiful.
II.  AllQueens are kings.
(1)  Only conclusion I follows.
(2)  Only conclusion II follows.
(3)  Eitherlorll follows.
(4) NeitherInorll follows.

11

fsaew yas (75-76) It fadt neele 3 & €3 ar 951
At fo'3 a3t 3 eneT 8 d Aeene § fons fee gwe 38

g3geeTT I M It S saee 3T @efeb
75. HeeHT-
T ITHISAT TS|
ATt It HEd I8 |
a3
(D A9 TH AT I35
(I1) AT &t g I |
(1) s fearatal
(2) sImTE R
(3) s IAT I ATt T
(4) e SR I aB3T5|



76. Statements:- 76. AEeHT -

Most Lilies are Roses. frer festaE e Is|
Some Roses are daffodils. B IABHIEATH TS|
Conclusions:- L E i b
I Some daffodils are Roses. L. gy Fefsmameas|
II.  Somelilies are daffodils. I1. gy fest 3efsmus|
[II.  Alldaffodils are lilies. I11. Ad Fefaw festos|
IV.  Nolilyisadaffodil. IV. et fest sefew adt|
1. OnlylandeitherITor IV follows. % (1 T RA T ImI [V T Fet feanadt 3)
2. OnlyIfollows. 2. (free I Aata)
3. EitherlorIV follows. 3 (EFwr A IS T feandtd)
4. Only 1 and I11 follows. 4. (FIATI I AT TS)
Tk What is the minimum number of colours required 77. we we f'39 § f&a dar &% sfenr A Aaer Jug

to fill the spaces in the diagram without any two adjacent s S Tt eI R R 53
spaces having same colour .

A) 6 B) 5 A) 6 B) 5
C) 4 D) 3 c . 4 D) 3
78.  Count the Parallelogram in the given figure 78. feggefezafeguzgegnidlfacstas

(A) 23 B) 22 (A) 23 (B) 22
© 21 (D) 18 (€ 21 (D) 18




79.  Select the one which satisfies the same
conditions of placement of the dot as in fig. ( X )

5 Hp D

X) (1) ) 3) 4

80. A cylinder is painted in 6 colours-green,blue,
yellow, violet, Red and ornage. Three positions are shown

below Oz

Yellow ) Orange
0
\___Blue \
(1) (i1) (iii)
what is the colour in the emply space .

(1) Blue (2) Green
(3) Violet (4) Yellow

Direction - Find the figure from the answer figure
which will continue the serires (81-82)

81 Problem figure

ERVAEL

—_

Answer figure

LIRS

“m @ 6 @

82 Problem figure

i e e

Answer Figure

X | P %X

Hm @ 6 @

79. fo'ge feofeafig sanfenr fomrd Ifeasu s fea
g& 7 (X) fo'gg &t mest ydwiaeer 32 8 A fagras
3 feasut fegsara gl feaguetsead ?

3\4@/ A [

X) (N 2 (€) “

P —

g8o. fegfadsae dara® daratard oo, aisT, Wier,
Faret, s I A 3 fegefeugagas)

iy m : Fradt
I
(i

(i) (iii)

yrs 95 3 fagar garmr=ar
(1) aET (2) qJar
(3) garzt i utsr

fsgew - g3 Jefegofee Onfegadt S ad fnas st
fegsaraaarmTAa (81-82)

81 yrs fege

ERVLL:
EECIEED)
LU

1y @ &5 69
82 yrs fase

T

K| P %X

m @ 6 @

13



Directions-All the figures together form a series . The
unnumbered figure marks the beginning of series
position of two figures in the series are incorrect .
Series will be correct if these are interchanged . The
earliest of two numbered figures whose position are to
be interchanged is the answer ( 83-84)

~—_7 e,
83 Z il | el
e | ol M e S W] s B s N

(N (2) (3) (4) (5)
84 P b < N d >N q . Y ﬁ < Y
~ Fa 4 1N ”
'\ bl [ F il - w ™~ g
A Sl | |15 | ¢ b,

(N (2 3) (4) (5)

85

BB | 5%

(1

i

(2)

¥

3) 4) (5)
Direction -Figures A and B are related in some way.
According to same relationship among C and D figures

choose the consent alternative ( 85-88)

< PR
@ ® © O

n @ 0 @

87 /A\ V ﬁ ’
@  ® © O
YOS

88 +ﬂ U| +U 7
A ® © D
MUY U

m o ® @

fagew -f&3 o 6 fo'zet &9 fast wfas fessa® st g
3t & 1ifas fe'get {5 € fo'3at & nirun fe'o wese Qudg
fo'get fee sargegT »r Aedl| gese T8 foset fes
ufowt fe'gesad<ar|

S N N (
83 i\ B
~ |~ |~ A~ A~ A ~_ X
om0 ® @ 0
84 === N < NP < ~
— 7 7 Z1S 7
> > > >- > ) > | € (
(1) (2) (3) (4) (5)
85
(1) (2) (3) (4) (5)

fsoew - fo'3e Am3 B feg et urefuz 18R dt gt er
frég fe'39 C W3 D &9 rarfug aed madt feasy &t ST ad

(86-88)
86 %
)—’ltﬂ % | ?
(A) (B) © (D)
(1) (2) (3) (4)
ALY | »
87
(A) (B) (©) (D)
(1) (2) (3) 4
88

A

)
) (B)
[}

(1

U
(2)

tU]
(Yl

4

(4)




Direction -Among five figures four figures are similar
in a certiria way. Find the different figure (89-90)

* | AL ]| 2

(1 2 3) 4 (5)

Lot | | v | v | i

(1) (2) 3) 4 (5)

Direction- In question 91-93) question figure is
embedded in one of the answer figures. Find the
correct one in which itis embedded.

91

fagew -f& 3 ae 5 faget fie' g9 939 muw fes fise
e s -fas fegaat g aa(89-90)

| A S| A

(1) (2) 3) 4) (&)

Lot | e | e | e |

(1) (2) 3) 4 ()

fsaew -yms ( 91-93) o yus foge , B3 feget feu fan
fe'g fe'a gfunr 3o § | faw fiee fea efipwr Sfewr 3w &t

g&dd -

91

X (O] ®|

OO | w

X

() (2) (3) 4

(1) 2) () (4)

( [FFens [0 FIpen:
7] [ATAIATA] [7] [ATAIATA

(D (2) (3) “

Direction- In question (94) square /circular paper has
been folded asshown with the dotted linesin the given
figures. The last figure (2) shows how the paper has

been cut. How would the paper look like when
unfolded. Question Figure
94 A

Pl

e
X

¥ 'z
Answer Figure

o
X
O
(1

(2 (3) 4

(1 2) (&) (4)

fsgem- yrs (94) f'v &g <9ar /3@ aam € 2a= 3 fig
Jyret T 5% 5% Hizwr farrr T , e far fo g fea eamfenr
farur & , feg fend »muet f'ze (2) & nigwre g fenm fapr T |
Fow dge Quds fad frarsdar ?

Question Figure

R e
94 :
4
W
X i z
Answer Figure
o]
e)
(1) (2) (3) (4)



Directions Q (95-96) Ineach of the following questions
there is a relationship between two figures on the left
side of the sine , the same relationship exists
between the two , to the right side of sign :: , Find the
correctalternative.

95 Question figure

G

ﬁ::ET?

——y

N

Answer figure

(3) (4)

96 Question figure

| E S
Y

Answer figure

2222223

(2) (3) (4)

ElLE,

g a0
g a

97

If the mirror image of the above figure is rotated to
90° in clockwise direction , It will look like :

(1) - @

(3)

fagew: yas (95-96) 35 fot yrst fee fams evgume
fe'get fe'e g merfuz 31 AH U @ Afawt fe'e <t 6t ida
Aafug gee Je fe 3 o feasy €9 ndt feasy &t §= a3

95 s fo'a
W|N : |Z] 2
§'3e fa'se
NS
(1) (2) (3) (4)
9% s fo'ge
X% 2 g
e s
O (PS (oo ((Ps
(1) (2) (3) 4)
97

Quias fa'3a & woue yIifte § wat &t et &t ferr e
90" 3 W= a7 ySifie fag faor saenraar |

(1) - @ _°




98.  Find the water image of given figure 98. fe3 J® fa'ge vr uret few ySifdw 591

oS ]
il ?

3) ) 3) )

99,  Find the water image of given figure 99. feF e feggerusl feu=iftass
Workno.lhard Workno.lhard
(1) MOLKUO [p3LY (2) M\OLKUO"[PULY (1) MOLKDO [pILY (2) MOLKUO [PILY
(3) MOLEUO TYRIq (4) MOLKO" TPILY (3) MOLKUO TqEIq (4) M\OLKUO" TPILY

100. Given below are three different positions of 100. Tt 3R (3t ) It 3w STt Sudhut
dice. Find the number of dots on the face fo opposite wenget fa Tt Set os |ﬁgf§3(3)éfﬁﬂ%é‘ﬂ@é‘#ﬁ'

the face bearing (3) threedots? Fa%ﬁ?mwfawaéarr 7
(1) (2) (3) (1) (2) 3)
O ®B) bl e ® s
(C) 6 (d) None (C) 6 (d) None
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fefmut €t GarsT ytfwnrr

Time : 2 hours Max. Marks : 100 M 2 U2 TIBZWT: 100
Instructions for candidates : Oiroergt st gorfegT
1. This examrelates to Scholastic Aptitude Test. i | ﬁﬂwmﬁmmma |
2. It consists of questions related to Science, farcr : :
Mathematics ang Social Science. fer i % i
fefamrs s fiuz fefmnt € yns iris 75|
3. Each question carries one mark. All questions " e =
arexompulsory. 3. JIFYRS T ETHAT INT YHS Agat 5 |
4. You have been provided with an answer sheet 4. _9’31?:.5 fem yres w39 wEt Q:Ea' Hie fest E“E’r
(OMR) for this question paper. Darken the 3 1839 e (& ) e yms @ Aot @39
correct option of each question in the answer BTH/BB % a5 578 I CING |
sheet (OMR) with black/blue ball pen.
5. guraHfeStadtystar IagTaTAaeTd |
5. Rough work may be done on the blank space
provided for this purpose. 6. few yifinr fe'e faeava (Sdifes) Hrafaar
ST |
6. There is no negative marking in this test.
_y 7. €., w9, €' 39rte GyT Tite efels
7. Do notuse white fluid on OMR Answer Sheet. =TI AT TS |
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impaired candidates only.

Fufegra=ar|



O
. " U .
o 589
C)\ ° i -:--r' a
w (J. o &
”~
-

(s> (U

>

o

0

\
3

Rough Work / &9 aH
o_g) T(es* (ys°-8&
sown (30~ 6‘>

'\.ﬁ \(_}/\{ n ( Q (‘0 -\ {5 C-i‘} O & i'\f’L C‘r l-"_{ [‘": (5__5_:2
//- - X ( | | .‘ |
(90°+60%) G5 ( 90+ 30)

QW(6OQ—\— 6)

(e |

e | g5 )\
¢, - e
l--—f“; £y 4—% O ; ‘;, !
AN Pl g ';.
D}" [ 57 O;}' \IIL )
> T B ‘
¢ ) oY x g,
/ N 7 0
.. )
h 0 |
B~ W/ e N h
1 pY
. § b d, ¥
& 5 7(35 1Y \%j ‘
{ O )
VA g—r/&o : -P-‘}‘UO '
NS o o o |
° \0 L " t ety w b i
w4 e '
\ ‘\/- T H.\‘\ e 11 PT )v
~T . -
aV_ | .I K - :;)\}, L ( B° :/" J I
v LR B (o
x jj/ VAR FN . B i\q‘/
S/ B T = ) (e
af A o ¢
K~ '
. Y. (30




1.

A body is thrown vertically upwards against
gravity alone with velocity 'u'. The greatest
height 'h' to which it will rise and time taken 't' to
attain this height is given by

(1) g . 28 @ .1
2g g g 8
(3) u', 2u 4 u,u
g g 2g g

What is the equivalent resistance between A and
B.

2Q
—MMVWN—

40 B
20

— AAAAMN—]
20

L AAAAAM—
20

B AAAAM—

(1) 16Q 2) 1Q
3) 7Q 4 3Q

A lady is standing in front of a magic mirror. She
finds the image of her head bigger, the middle
portion of her body of same size and that of legs
smaller. Which of the following is the correct
order of combination for the magic mirror from
the top.

(1) Plane, Convex, Concave
(2) Convex, Plane, Concave
(3) Plane, Concave, Convex
(4) Concave, Plane, Convex

An electric Kettle consumes 1 KW of electric
power when operated at 220 V. A fuse wire of
what rating must be used for it.

(1) 1A 2) 2A

3) 5A 4) 4A

1.

feg ez 3 g3 oo fegu AT Qua s & v ar
&% Hfenm AfeT JI eRg €8 3w dist Su T &1
guret 'h' w3 fow @uret 3T udue BEt HIr ANT
(1) u,2u (2) u
g
u 4 v,u

2. Aw3Bfesagasyfssuat<ar

20
—AAAAN—

40 o
20
—AAAMAN—

2Q
— MV

- e

(1) 16Q (2) 1Q

3) 7Q @ 3Q

. fea v fea Aredt voue Aone vt 31 6Re g er

yIifee 37, Adta € HT gmar o YSifEy s9ee Ma
e 7e fa '3t o yIifiy ger awe wer I Arewt

 guT uT I It T J5 st migng Sy-Ty vaust

s 3 gfenm 3| feost feg fagarmis st a ?

(1) 3T, 83, mE3w
(2) CELRLEL R )
(3) 3T, Me3s, 835
(4) WIIB, 35,838

fea farset a8t & AL 220V 3 w@fen Aier &
3t feg | KW ferat narst &t wuz qeet 3 i fan 3fear
<t fe€w 379 fen & <a3= et Qutiar aoat oratet
o

(1) 1A (@) 3 24
(3) 5A : 4) 4A



3.

A person cannot see objects distinctly kept 5.
beyond 2m. This defect can be corrected by the
which type of the lens and of what power ofits.

(1 Convex Lens,+0.5D
(2) Concave Lens,+0.5D
(3) Convex Lens,-0.2D

4) ConcavelLens,-0.5D

Action and Reaction according to Newton's third 6.

law acton.

(1) Same body in opposite direction.
) Different bodies in same direction.

(3) Different bodies in opposite direction.

(4) Same body in same direction

9.

10.

A passenger, in a moving bus tosses a coin which
falls behind him. It means that motion of the bus 7.
is:

(1) Uniform

(2) Accelerated

(3) Retarded

(4) Circular motion

A current of 2 amp is drawn by a filament by an

; 8.
electric bulb. No. of electrons passing through a
cross section of the filament in 8 seconds would
be approximately.
(1 10" @ 107
3) 10" 4) 10"
: W o.
The voltage can be written as : )
(1 Work done x charge x time
(2) Work done x time D Y,
Current ¥ 6 ¥4
(3) Work done )
Current x time
(4) Work done x charge

The strength of magnetic field inside a long 10.

current carrying straight solenoid is :

(1) Minimum in the middle

(2) More at the ends than at the centre

(3) Same atall points

4 Found to increase from one end to the
other.

fea mrert 2m 3 femirer gdt @@ AW § AT
&t 24 FaeT| fer feret €0 e FUd 995 et 850

ot fami w3 rarat at a=art |

(1) @3m 83w, +0.5D

(2) MIIBBEH,+0.5D
(3) @3® 83w, -0.2D

(4) MIIBZEH, -0.5D

faes & art € Jtne famn wgnmg fafonr w3
yStfafenr sae s

(1) fegeng Ius s ferrfee

(2) WS aTs aTena Jug fed fenrfee
(3) WMB IS ITeR3T ImI Guefenfee
(4) fegeng In3 feadifenfes

feq w39t Iwat gy f&9 fiar @eser 7 faosr
e fug fsaedifenIg=dfa:

(1) g fea AHTs SAT B ISt FT T T
(2) gAerEgr= ufaardi

(3) gRereaTwe faardl

(4) gH9adad ISt AT IA I |

feg fanset g v feBHe 2 Amp eTaqde BeTd |
8 Afge feg Gne fesmie fe¥ fas fedaes sw
A

(1) 10" 2) 107
(3) 10" @ 10"
Swew &t fEu A T
(1) FI3aad x IT9H X AHT
(2) Figrarad x AHT
ade

(3 s

Fde x AT
(4) F3raad x I

IR CEIR

(1) HufesweIwedatdl

(2) g 58 fafent 3T gt I

(3) T fig Ifeamrsdetdl

(4) feafre T enfre s suet At J|




11,

12.

13,

14.

15.

16.

In which of the following situations the distance
moved and the magnitude of displacement are
equal?

(1) A Pendulum is moving to and fro

(2)  Moonisrevolving around the earth

(3)- A boyissitting in moving merry go round
(4) A busismovingona straight road.

Ocean thermal energy isdueto:

(1) Energy stored by waves in the ocean

(2) Pressure difference at different levels in
the ocean.

(3) Tidesarising out in the ocean

(4) Temperature difference at different levels
in the oceans.

The major problem in harnessing nuclear
Energyishowto:

(1) Splitnucleus

(2) Sustain thereaction

(3) Dispose off spent fuel safely _
(4) Convert nuclear energy into electrical

energy
Calculate the number of atoms in 0.2 mole of
Sodium Carbonate (Na,CO,).
(1) 7.2264 x 10" atoms
(2) 12.044 x 10” atoms
(3) 6.022 x 10” atoms
4) 1.505 x 10™ atoms
Which of the following radioactive isotope is

used in the treatment of Cancer?

(1) Iodine— 131

(2) Uranium—235

(3) Sodium-24

(4) Cobalt—60

In the given reaction the oxidizing agent is
Br,+2I'——» 2Br#l,

(1) (Br,) 2 (@)

3) (Br) @ (@)

12.

13

14.

15.

16.

femaus fea s e as?

(1) fealzsrdta=tfes

(2) UsTtugStew S gagadastfes

(3) feageridee @z ys fevatase 38
(4) feagndt it rga Quaardtage ae|

AEdt 3 Qe er aes 97
(1) neqf&e sfoat @t enrar Ayt (19) st
Seoul

(2) WieefETU-SYUTT I TEH T i3I
(3) miegfee@senasaae
(4) mIedfeoY-SYYTI I IUNS e 9T

fs€asmg Gerr & =a3 few fomBe sdt ng 3

St feodfa-

(1) fsQastmg3zari

(2) fsGastfafenrrdesaueri

(3) =33 ¢ fsQamve e e Rt fauerar |

(4) fs@awt Qamr v fawwer Qowr few
ufg=a3s | '

ASH a79882 (Na,CO,)E 0. 2 8 fee a5 fag
NS T57
(1)  7.2264x 10"y

L (2) 12.044x10°yHE

(3)  6.022x10°ywrE
@)  1.505x 10y

75 foy fauz IStenafes mimafasa &t 293 ane
e femwiegatataata:-

(1) wfeGsts-131

(2) WIEPHH-235

(3) AgiH-24

(4) FEHBE-60

few fafan feg mrartaraa fagar -

Br,+2I" —— 2Br+],
(1)  (Br) 2) @)
(3) (Br) @ @)



17.

18.

19.

20.

7.4 1A

While cooking, if the bottom of utensil is getting

blackened on the outside, it means that:-

(1) the food is not cooked completely
(2) the fuel is not burning completely
(3) the fuel is wet

(4) the fuel is burning completely

Which of the following is not base?

NaOH KOH

(2)
“4)

(1

3) NH, C,H.OH
When 200 ml of a gas at constant pressure is
heated from 0°C to 100°C, the volume must be

multiplied by:-

(1) 0 ) 100
100 0

3 2B @) 373
373 273

You are given the following chemical equation:-
Mg, +CuO, — MgO,, +Cu,,,

(s)

This equation represents:

(1)

Decomposition and displacement

reaction.

(2) Combination and double displacement
reaction.

(3) Redox and displacement reaction.

(4)  Double displacement and redox reaction.

A metal 'X' forms a water-soluble salt XNO.,.
When an aqueous solution of XNO, is added to
common salt solution, then a white precipitate of
compound 'Y' is formed along with sodium
nitrate solution. Metal 'X' is said to be the best
conductor of electricity and it does not evolve
hydrogen when pufin dilute hydrochloric acid.
What is metal 'X', salt XNO, and compound 'Y'?

Metal 'X' is Silver (Ag), Salt is Silver
Nitrate and compound 'Y' is Silver
Chloride.

(1)

.

18.

19.

20.

Z1.

yrET g8 AN Had 9936 §709 BT J AT J,
ferFatged:-

(1) 37 Udt 397 5% T ufaT |

(2) %S Udl 397 5% 41 7S faar |

(3) gEfasTd|

(4) B Y T S B A T T |

I35 fafipnr fe S faggrya st 37

(1) NaOH (2) KOH
3) NH, (4) CHOH

fair mits w9@ 3 200 St feg am 3 7 0'CT
100°C, I RN 13T ATeT T, 3T fer e mfess 75
foy fee fanerasta J<arm-
(1) 0 (2) 100
100 0
(3) 273 4 373
373 273

Jot fe'gt aret amfefea mitage faw 37t &t fafour
& EagEt J:-

Mg, +CuO,— MgO, +Cu,,

(1) muwes w3 ferarys fafanr |

(2) AGAS M3 gaar femarus fafenr |

(3) fogmamm3 femarus fafenr |

(4) e femarus w3 fagran fafam |

feg oz 'X' el fev weeHs g2 XNO, 578t

J17E XNO, € A8HE! WS 3 Auds e T ws e
yrfemT AfeT § 3t AET 39T © mieuy 78T Giaa 'Y!
w3 AFhH arfece erug seer I U3 X! famst e
FS 3 St g 3 w3 fen § uIB TetEas e
s fee uBs 3 gdisws dm adt faaset 1 a3
'X', B XNO, M3 Gfad 'Y' eT s AT J7

o3 'X' viet (fAse9), 5 frsa sretee w3
Gfoa 'Y fiseg a@aets I

(1)




22.

23,

24.

25.

26.

(2)  Metal 'X' is Magnesium (Mg), Salt is
Magnesium Nitrate and compound 'Y" is
Magnesium Chloride.

(3) Metal'X'"is Lead (Pb), Salt is Lead Nitrate
and compound 'Y" is Lead Chloride.

(4)  Metal X' is Copper (Cu), Salt is Copper
Nitrate and compound 'Y' is Copper
Chloride.

The salt which will give a neutral solution on

dissolving in water will be:-

(1) CH,COONa (2) NH(CI

(3) Kl (4) NaCoO,

Which of the following is the correct electronic

configuration of Nickel with an atomic number
28?

()  1s2s2p'3s'3p"3d"”

(2)  1s2s2p"3s'3p'3d"

(3)  1s5"2s2p'3s’3p°3d"'4s’

(4)  152s2p"3s"3p°3d"4s’

Which of the following gives the correct

increasing order of acidic strength?

(1)  Water, Acetic acid, Hydrochloric Acid
(2)  Water, Hydrochloric acid, Acetic acid
(3) Acetic acid, Water, Hydrochloric acid
(4) Hydrochloric acid, Water, Acetic acid
Which of the following metals form an

amphoteric oxide:-

(1) Na 2 Ca
(3) Al 4 Cu
A common metal which is highly resistant to

corrosion is:-

Iron
Aluminium

(1)
3)

(2)
“

Copper
Magnesium

22,

23]

U3 'X' HATSTHPH, B RaTS IR FTetee
3 Al 'Y HaTS TR aBaeg T |

U3 X' B, B 8F FElee w3 Gfoa
Y'BFABITET T

U3 X' YT, BS T UT FEICE M W'Y’
TUTIBIET |

U féar J:-

(1) CH,COONa (2) NHCI

(3) KCl (4)  NaCoO,

Iz fafunt fe¥ foam fam & yirg wa 28 §, &t
fedaefaa gaataat g=aft?

(1)  1s2s2p*3s’3p“3d"

(2) 1s2s2p"3s’3p"3d" .

()  15252p'3s'3p*3d"4s’

(4)  152s"2p"3s'3p"3d*4s’

24. We AE3AE 3T I TU RISAEET IAH o

29.

26.

FueTaH I fefiont &S fagar J:-

urt, wrtfea wifis, Tretssasfoa wing
urat, Ttz asfoa mins, Awtfea mins
nitfea wifis, uret, sretsdas foa nfns
TretsTaBfea Hins, uret, nrtfea Mins

(1)
(2)
(3)
(4)

g I~

(1) Na
(3) Al

Ca
Cu

(2)
)

feanm o3 frost dos setsog dt ua a:-




27.

28.

29.

30.

31.

32.

Mitochondria and Plastids are able to synthesize
some of their proteins because they have

(1) DNA
(2) RNA
(3) DNAandRibosomes
(4) RNAandRibosomes

Which of the following statement is correct about

Cardiac Muscles.
(1) Cardiac Muscles are uninucleate and

Unbranched.
(2) Cardiac Muscles are Multinucleate and

Unbranched.
(3) Cardiac Muscles are uninucleate and

branched.
(4) Cardiac Muscles are Multinucleate and

branched.

The correct pathway of blood in circulatory
system is:

(1) Auricles — Ventricles — Artery —> Veins
(2)  Ventricles—>Auricles —>Veins —>Artery

(3)  Ventricles—> Veins —>Auricles — Artery
(4)  Auricles—> Artery —>Veins — Ventricles

Which one of the following is an incorrect match.

(1)  Ovary—Estrogen

(2) Pancreas — Insulin

(3)  Pituitary gland — Adrenaline
(4)  Testis—Testosterone

Concentration of urine depends on the presence

[4) SRS

(1) Thyroxine

(2) Testosterone

(3)  ADH (Antidiuretic hormone)
(4) Melatonin

Which leaves have parallel venation.

(1)  Peepalleaves
(2) Hibiscus leaves
(3) Banana leaves
(4) Banyanleaves

20

28.

29,

30.

32.

HrEtea gt M3 uBTHiesH 9F s seT9e €
wrydt e E IO 75 faf fa Gust feaiged:

(1) Ftwse

(2) MIMEE

(3) FtAEETWI IEEAN
(4) M. HE T3 IJETEAH

Jo fafint fe* few Ut 979 faozT a5 AT T

(1) fes Udbnr feq deda M3 mETea et
ary| _

(2) fes Udtyr 59 aedd w3 Marfy3 et a5

(3) few Uity fe'g aega W3 iy gei a5 |

(4) fou Uty 9 dedq w3 Fiyz Je 5|

BgAT9 yeE e sy e Rdt Y= AT at 37

) wrdas —> TTHES —> OHET —> fagT
)  Has —>wrdtas —> fagr—> ot

3) Fedas— faar—>wrdlas —> uHat
)

(4) wrdtas —> ot —> fggr—> edtas
J5 fafunt fee faga fimre rdt &9t 91
(1) WSAH - MHSIHS

(2) @y -fenfes

(3) fugedt dEt - wsdtsTes

(4) UI'H - CHEHAIS

HITSWEIT .o 3 fagggaaet a7
(1) wETanRs

(2) CHeWSEE

(3) wAsetwdfea gans (ADH)
(4) = -.-..ﬁ

faaz ufan feg aviga Res Jerd?
(1) fuuseuz

(2) TITBEUI

(3) IBEUI

(4) HageUd




33,

34.

35.

36.

37.

Which of the following equation is the summary

of photosynthesis.

Chlorophyll

(1) 6CO,+12H,0 W

C.H,,0, +60,+6H,0

(2)  6CO,+12H,0 — CH,0,+60,+6H,0

Chlorophyll

C,H.,0, +60,+6H,0

(4) 6C0,+H,0 —» CH,0,+60,+6H,0
Sunlight

The breakdown of Pyruvate to give Carbon
dioxide, water and energy takes placein..........

(1)  Cytoplasm (2) Mitochondria

(3)  Chloroplast 4) Nucleus

Choose the correct statements.

(1)  The female gamete is called zygote.

(2)  Twinsarealways Identical.

(3)  Gregor Mendel is the father of Genetics.

(4) In human beings sex is determine by
presence of X and Y Chromosome

(1)  Statement | and 2 are correct.

(2)  Statement 2 and 3 are correct.

(3)  Statement 3 and 4 are correct.

(4) Statement | and 4 are correct.

The nature of nerve impulseis..............

(1) Chemical
) Magnetic
(3) Electrochemical
(4) Electromagnetic

Which of the following are called “Amphibians
of plantkingdom™?

(1)
3

(2) Pteridophytes
(4) Gymnosperms

Bryophytes
Thallophytes

3.

34.

35.

36.

3v.

J?

 aBdfew
(1) 6CO, + 12H,0 ——— C,H,,0, +60,+6H,0
HoHT ya

= -

() 6CO,+12H0 5 CH,0,+60,+6H,0

aBafes
(3) 6CO, + BHIOMCSHWO,JBO?WH?O

) 6c0,+H,0 ———> CH,0,+60,+6H,0
HIHT U™

ufegee € feias 578 q7995 SEPHanTels, et

w3 Iy Gaar o= & yfsfafenr........ few Tyest
a?
(1) WEeUs™HH  (2) HElead &It

FEIUBHE  (4) fsQambun

=

(3)
At Es €79 dd :

HTET HaHT & GaHH JfJe I5 |

a3< onnT fed fro g 05| _

IO H3E § migefagrerfugr fagrarerdi
f8ar faguae waufees X M3 Y grenzat
5% Jetdl

(1)
(2)
(3)
(4)

TES 1 M3 2 AT TS |
TS 2 M3 3ATT IS |
TEE 3MI 4RI TS |
TES 1 M3 4RI I& |

(1)
(2)
(3)
(4)

sratm=ar (Nerve impulse) €THI™ ... Jera|

anfefea

2) gyt
farsetanfefea
4) fawwetgwat

35 fafint &S fan & “der A9z © AsEst He”
fagraterg?

Sfgereter
fAaauen

(1) gfe@ereter
(3)

(2)

g8erdter (4)




38. The Centre of sense of smell in brainis

Mid brain
Cerebellum

(2) Olfactory lobes
(4) Cerebrum

(1)
3

39. A tissue which makes up the husk of coconut and

whose cells are dead, elongated and lignified s :

2)
4

Collenchyma
Sclerenchyma

(1
3)

Chlorenchyma
Parenchyma

40. Which of the following is not a part of male

41.

43,

'3

reproductive system in human being.

(2)
(4)

Testes
Vas deferens

Prostate gland
Fallopian tube

(1)

Three digit numbers are formed using the digits
0,2 and 5 without repetition. Find the probability
that the number is divisible by 5.

(1 (2)

(=] M‘b—‘

3) (4)

Jh‘r—- .b.|w

. If o.and P are the roots of the equation 2x”—3x +4

=0, then find the equation whose roots are o’ and
B

(1) 4x’+7x+1=0
(3) 4x’+7x+16=0

(2) 4x+7x+6=0
(4) 4x’-7x+16=0

ifp" term ofanA.P. is% and q" term is_;l)“ then

(pq)" term of this A.P. will be.

(1) I 2 0
3) pq 4 p-q
ptq Pq

Iftang+sine=pandtane—sine=q, thenp’—q’

i1sequal to:-
(1) 4pq 2)  4Vpq
3) 2pq 4 2Vpq

38.

39.

40.

41.

42.

43.

44.

famfe'—u'a’rue’rawe*&‘eam?&?

(1) wWufewar (2) WS 4%

(3) RAdtEBHW (4)  AdtEaW

€v feg 7 adwm T fewar se@e s w3 fAn €
A8 H3a, 5373 lignified T6GT ... I5|
(1) TBISATEMHT (2)  ABEATEIHT
(3) UHISATEMHT (4)  AIBISATEINT

yerstergaradta ?
(1) W38 (2)  yweedmEt
(3) page =fost (4)  eBUmMsfeCu

wat 0, 2 M3 5 3 fast goge 3% wiat =@t
Aftmret ety aretyml fem 3§t yuz G4t
Aftret & AgT=aT U3T J9 fagstt AfvrT 5 5%
FHGEAI IS |

(1) 3 2 1
4 2

(3) 1 4 0
4

HEd o M3 PRIEEE 2x° - 3x +4=0T HB d= I 6T
MHigeE U3TJ3 fAne ¥& o3 B’ I

(1) 4x’+7x+1=0
(3) 4x’+7x+16=0

(2) 4x*+7x+6=0
4) 4x'-7x+16=0

#Aad fam A.p. e petue %b{éqa‘rw % J=e 38w
A.P.€7(pq) T UT IS~

(1) 1 (2) 0

P9

) PTq

Had tano+sing=p M3 tane-sing=q d= 3T
p’'—q' §ITEI IS

(1) 4pq @  4Vpq
3) 2pq @  2Vpq




45.

46.

47.

48.

49,

50.

If mid- point of the line segment joining the
points A(3,4) and B(k, 6) is P(x,y) and x +y— 10
=(), then the value of 'k'is.

(1) -7 @ 7
(3) 10 4) 13
3

The average age of a group of eight persons is
same as it was 3 years ago, when a young member
is substituted for an old member of the group.
How many years the new member is younger to
the outgoing member.

(1
3)

(2)
C))

11 years 28 years

16 years 24 years

Ifx"+$ =2thenvalueof x’+1 is

X
(1) 1,2 2 1,2
(3) -1,-2 (4) 1,-2

In the given figure, If A, B and C are the three
points on a circle such that the angles subtended
by the chords AB and AC at centre 'O are 60’ and

100" respectively, then find the value of ZBAC.
B

(1 20° 2) 50
3) 80" 4 30
'A' takes 6 days less than the time taken by 'B' to
finish a piece of work. If both A and B together

can finish it in 4 days, find the time taken by 'B' to
finish the work.

(1) 2days (2) 12days

(3) 6days (4) 10days

Find the value of:-

Cos’(45°+0)+ Cos’ (45°—0)

tan (60" +0) tan (30" 0)

(1) 2 2) .1
2

(3) 1 4) 1

45.

46.

47.

48.

49.

50.

Aaq féentt A3, 4) M3 Bk, 6) § fizBe =8
TEF T HU g P(x,y) M3 x +y-10=032 3F K

) -

THE TSI~

(1) - ) 7
(3) 10 4) 13
3

Wz &g @ fea fenadt 5% sese '3 fen avo &
wrz ve 8xt It 4, At yare Aye © 35
ufgst #inz Gve " few Mo fev wis &=
femaat &t Eve, ayo fes e o8 fenaat &t Gve
Ffas s wed?

(1)
(3)

11A'®%
16 A%

(2)
(4)

28 A%
2478

Haq x-‘+;1;= 23S I X'+ | ETH B TSI
X

() 1,2
R )

(2)
4)

1,2
1,-2

fe3 fege feefaa A, B3 C 35 fig, fea gae
famer a'w9 ‘0’ 7, '3 fen 337 Afez o5 fa deret
ABMI AC fere ae3 I =9 60° M3 100° T aE
g 8T 3T, 3 ZBACEHBUSTIT |!

B

5 Oi}
3 05]

20”

(1) 20 )
80

(3) )
'A' & feq o yar g95 BEt 'B' I 6 fes v we mrt
BaeTJIAdT AnI Biwa fenan g 4 fes fes
Y3 9 Be d<, 3T uIT a9 fa ‘B feamr feman &
fo& fest feg yar adar|

w\/ki--:
2 fes Q)”D"
6 fes

12 fes
10 fes

(1)
@)

(2)
4)

Cos'(45°+0)+Cos’ (45°0) arymuzrad|
tan (60" +0) tan (30°—0) 3

o)

(1)

(2)
(4)

g
2
1




51.

54.

o B

In a circle of diameter 40 cm, the length of the
chord is 20 cm. Find the length of the minor arc
corresponding to the chord.

(1) 2=n (2) 20z
3 3

(3) 10zm (4) 10x
3

. If the roots of the polynomial x’ — 3x* +x + 1 are

(a—b),a and (a+b) then find the values of 'a’ and
'b'.

(1) a=+V2,b=1 (2) a=1,b=2
(3) a=2, b=+\2 (4) a=1,b=%\2
. If sec @ — tan @ = 2, then the value of sec o +tan o

will be equals to (Where @ is an acute angle).
(1) 1 @ A

V2
(3) 0 4 _1

2

Two dices are thrown together, find the
probability that sum of numbers of both up sides
ofboth dices is a perfect cube.

(1) _6 2. L
36 36

(3) 0 (4) ]
36

'B' speaks truth in 75% cases and 'A' speaks truth
in 80% cases. Find the probability that they
contradict each other in a statement is:-

(1) 13 (2) 3
20 5
3) 2 @ 7
5 20
. Ashok, Usha, Rani and Sonu have to give

speeches in a class. In how many different ways,
the teacher can arrange the order of their
presentation.

(1) 4 (2) 12

51.

S2Z.

33.

54.

55.

56.

40 cm fomm =8 fea ga9 < fea Ater & Sgmet
20 cm 71 fen Fer € Aoz W v & duet u3T
adl

(1) 2= (2) 20=m
3 3

(3) 10m 4) 10n
3

Haq fan ggue @t fAgdt (a—b),a M3 (a+b) I&
I M3 b THS U3Tad|

(1) a=+V2,b=1 (2) a=1.b=2

(3) a=2, b=+\2 (4) a=1,b=+V2

Hadseco-tano =2 T 3T sec o+ tan o ETHS At

Jeam (feg o feafalasaea)

(1) 1 2 .1
2

(3) 0 4 1
2

& uH feas §e o, AgTesT U3t a9 fa &< urfn
< Gug et fifipret erAg feq uas we I= |

(1) 6 (2) 7
36 36

(3) . 0 4) 5
36

75% WRfemt f&g 'B' W3 80% HAfswm f&w 'A’
Ho §ser | fan fea fars it feg era € @B de <t
AgeEsTU3Tad|

-
—_
(3]
—

(1) 1

‘ L

(o)
—_—
=

3)

'-J'I&t-)

e, @, ISt w3 g & aw fee gHe g7 7
nferrue @t €t Unadt 8 fas Su-Tu €ar &8
IIIEAFETI?

(1) -+ (2) 12




57.

58.

59.

60.

61.

62.

(A+B+C)

Forany AABC, find the value of Cos 3
(1) I 2 1
2
3) = 3k 4 o0
2
.
2 g 34
If S = x then find the value of 'x
231 0
3+
1
1+
(1) 1 @y. '3
7 64
(3) 1 4) 8
7
The capacity of a cylindrical tank is 246.4 litres.

If the height of tank is 4 metres, then what is
diameter of its base?

(I) 14m (2) 2.8m

(3) 14m (4) 28m

If the area of a squared field is 69696 cm’. Then
what is the length of its diagonal.

(1) 313.296cm (2) 353.2963cm
(3) 373.296cm (4) 393.296 cm

Aus, Aman and Boro, grown thrice in a year are

the types of crop.

(1) Maize (2) Rice

(3) Millets (4) Wheat
Which type of soil is also known as 'Regur Soil'?

(1) Black Soil
(3) Sandy Soil

(2) Red Soil
(4) Yellow Soil

57,

58.

59.

60.

61.

62.

fait AABCm#t Cos Siif*_c) e
(1) " (2) 1
2
3) 3 4) 0
2
|
T 3
Pl 2 =X TR ITX EHS UITF9I
24+ -1
3L
1+4
(1) 1l 2). - 3
7 7
(3) 1 (4) 8
7
fe'g frdsararg o ©f UT9& AHIET 246.4 fBeg 1

Hagd o € Gt 4 Mieg 39 I few @ wog ©T
fermuzrad|

(1) 1.4Mred (2) 2 8 Mtead

(3) 14MHted (4) 28 Hied

Haa fai TgaraTa 43 e U39es 69696 (A M. 7=
gt fon € fegas &t et fast =4t ?

(1) 313.296R2Nted  (2)353.296 AehHied
(3) 373.296H2HHied (4)393.296 Rt HieT

et famit o5 7 fa 7s fee f3s Tt Sfivbdt
AT IE?

Hat (2) g5T
HTHdT

(1)
(3)

fam fami &t fifet & Tare firet’ < fagrarera?
(1) astfet (2) wwhie
(3) IIBIWSA (4) uistfiet




63. The first cement plant of India was established at :

(1) Mumbai (2) Ahmadabad
(3) Madurai (4) Chennai

64. In which state the 'Kaziranga Sanctuary' is
situated?
(1) Jammu& Kashmir (2) Assam
(3) Haryana (4) Kerala

65. What is the population density of India as per the
census 20117

(1) 382 person per sq. kilometer
(2) 482 person per sq. kilometer
3) 582 person per sq. kilometer
(4) 682 person per sq. kilometer

66. 'Konkan Railways' stretches along the

(2) Eastcoast
(4) GreatIndian desert

(1) Northern plains
(3) Westcoast

67. Which sea existed at the place of the present

Himalayas?
(1) Arctic (2) Tethys
(3) Alps (4) Andes

68. Which of the following is the main tree of
Tropical Evergreen vegetation?

Accecia
Mahogany

Coconut
Silver Fur

(1) (2)
(3) (4)

69. Which river is called 'sorrow' of West Bengal?

(2)
(4)

Tapiriver
Indus river

Narmada river
Damodar river

(1)
3)

70. On which tree the Silkworms are reared?

Accecia
Mango

Tahli
Mulberry

(2)
(4)

(1)
3)
71. Which place is known as 'Silicon Valley' of India?

Mumbai
Nagpur

(2)
(4)

(1)
(3)

Bangaluru
Ahmedabad

63.

64.

65.

66.

67.

68.

69.

70.

71

ga3g erufasTihie uste fag marfuz atar fapum?

nfoyerare
oyl

Heet
HedTfe

‘Fratdar A aye U39 faos o fegRfaz 37

(1)
(3)

(2)
(4)

(2)
(4)

WMHYH
JI®

(1)
(3)

Ifanrar

A% 2011 € AGIESET WEA™T I3 T ASHIPHT
wEIr faata?

(1) 382 fenmastyzt=garfadies
(2) 482 femadtyIt=garfadies
(3) 582 foradtyst =sarfadies
(4) 682 fena3t y3t <gar fadites

‘Tae awe feost feo fan v s -5% feget aret

(2)
(4)

I3 € HI'E H'gES
fovwrfent ugaat € Aay 3 ufost, 87 Aqft 3 fagar
ATIId JeTHI?

(1) waafexq (2) <=

(3) MBUR (4) wFw

‘Gre AET g9 FERUSY ETHY eI 3-

faag
Haarst

SAHS
frs<geg

(2)
(4)

(1)
(3)

faost set § ueHt dars e ‘mery’ faor AieT 37

It st
g s<t

(2)
(4)

SIHET 5El
THEd &t

(1)
(3)

IAH © difant & faua sy 3 ufenrater 37

faaa
W

Tast

(2)
(4)

(1)
(3)

g3 ot fistars wet’ fan g § faurwierg?

Heet
&TdUd

(2)
(4)




72. Who made the law for the security of forests in
1855A.D. ?

(1) Lord Dalhousie
(3) LordRippan

(2) LordCornwalis
(4) Lord Wellesley

73. 'Safrej Movement' was related to which category
of the society?

(1) Children 2)
(3) Men (4)

Women
Old people

74. Which Sikh Guru Sahib compiled 'Jap Sahib'?

(1) Shri Guru Nanak Dev ji
(2)  Shri Guru Hargobind Rai ji
(3) Shri Guru Gobind Singh ji
(4) Shri Guru Teg Bahadur ji

75. When did 'The treaty of Bhairowal' take place?

(1)  24Dec.1846A.D.
(2) 25Dec. 1846 A.D.
(3) 26Dec.1846A.D.
(4)  27Dec. 1846 A.D.

QTGIJ: When did Vietnam become a United Country ?
(1) 15thApril 1974 A.D.
(2)  30thApril1975A.D.

(3)  30thApril 1973A.D.
(4)  15thApril 1976A.D.

77. Karl Marx was against :

(1) Democracy (2)
(3) Communism (4)

Capitalism
Socialism

78. Who was 'Giuseppe Mazzini'?

(1) An Italian Economist
(2)  AGerman Nationalist
(3)  AGerman Professor

(4) An Italian Nationalist

79. Which among the following cities is hub of the

new print culture.
(1) HongKong (2) Tokyo
(3) Shanghai (4) Chicago

72.

73

74.

75.

76.

77}

78.

7%

1855 €. fe'g ==t &t g et fand ads see
A&S?

FOT TISSEH

(1) BIEAITISIAT (2)
(3) w®masfous (4)

‘AedH MeBa ANTH © fan 2991 7% rfaa wt?

(1) wfout (2) a3t
(3) yaAf (4)  ggdar
‘Fry Arfoy’ €t guaT fan gig Arfoe & di3t?

(1) HiIgssae=H
(2) Htagggaiae afe+t
(3) Hagdifee g+t

(4) ¥Y3g Iargareg A

Iy I AT ae IEt?

(1) 24THET 18468,

(2) 25THET 1846,

(3) 26THHT 1846 €T,

(4) 27¢HHT 1846
SzaHae fea Auaa ergfemT?

(1) 15%UB 19748, &

(2) 30MUB1975€. &

(3) 30mMUB1973€. &

(4) 157UB1976%1. &

9% HdaH fare fusTe At?

(1) BFI]IE (2) Uvieree
(3) AYETREE (4) RAHASET
“farefrut watat d= Hi?

(1) feestermgarHaat

(2) TOHBTETIHII=SET

(3) VWG eTUSHT

(4) feedteramegerat

95 fafnt &9 87iums v arg faosrafag a7

(1) gfarEtar (2) 2qG
(3) fAwrst (4)

faarar




80.

81.

82.

83.

84.

85.

86.

87.

Which is the best literary work of Prem Chand ?

(1) DoBighaZameen
(3) Anand Math

(2) Godan
(4) SewaSadan

Who formed "Young Italy' a secret society ?

(2) Wilhelm Wolff
(4) Metternich

Bismarck
Mazzini

(1)
3)

Which of the following is the Presidency city-

(2) Delhi
(4) Ahmedabad

Luckhnow
Bombay

(1)
3)

Under which Article 'Untouchability' is abolished
and its practice is punishable ?

Article—17
Article—-19

(1) Article—15
(3) Article—16

(2)
(C))

An individual who is not a member of either
house of parliament, can be appointed a member
of council of Ministers, but he has to become a
member of either house within a period of .........

(2)
(4)

3 months
6 months

one month
| year

(1
3)

Who is regarded as the supreme commander of

the defence forces in India?
(1) President

(2) Prime Minister

(3) Defence Minister

(4) Chiefofdefence forces.

Which of the following institutions is not a part of
the 'Rural’ local self Government?

(1)  NagarPanchayat
(2)  Panchayat

3) Panchayat Samiti
(4)  ZilaParishad

How many members are elected from Punjab in
Lok Sabha?

2) 13
4 17

() 7
3) 21
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88.

89.

90.

91

92.

93.

Under which Fundamental Right in Indian
Constitution 'Right to free and compulsory
Education' has been given ?

(1) Under - Right to equality

(2)  Under—Right against exploitation
(3)  Under—Rightto Religious Freedom
(4)  Under—Rightto Freedom

When was the charter of United Nation

organization, accepted by 51 countries?

(1) 24th October 1945
(2)  26thJune 1945
(3) 10th August 1939
(4)  24thApril 1954

Who was the President of constituent Assembly
of India?

(1)  Pt.Jawahar Lal Nehru

(2) Dr. B.R. Ambedkar

(3)  Sardar Vallabha bhai Patel
(4)  Dr. Rajendra Prasad.

Who has said these words regarding the
'Panchsheel’ principles, "By Implementing these
Principles, there will be permanent world peace”.

(1) Mahatma Gandhi

(2) Dr. B.R. Ambedkar

(3) Shri Lal Bahadur Shastri
(4)  PanditJawahar Lal Nehru

Which of the following features is not a federal
feature of Indian constitution?

(I)  Supremacy of the constitution

(2)  Distribution of powers between centre
and states.

(3)  Appointment of Governors by president
of India

(4)  Independent Judiciary.

Which of the following is the correct equation

(1)  Savings=Income + Consumption
(2)  Savings=Consumption—Income
(3)  Income= Savings + Consumption
(4)  Consumption=Income + Savings
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Which group belongs to all direct taxes?

Income tax, Gift tax, Sale tax
Income tax, Wealth tax, Sale tax
Gift tax, Wealth tax, Sale tax
Income tax, Gift tax, Wealth tax

(1)
(2)
3)
“4)

Which is the Central Bank of India ?

RBI
ICICI

SBI
HDFC

2)
(4)

(1
3)

In which sector, natural sources are used for
production?

(2) Secondary Sector
(4) Financial Sector

(1) Service Sector
(3) Primary Sector

Monetary Policy has one component of policy
(1) Bank Rate (Interest)

(2) Public Income

(3)  Public Works

(4)  Deficit Financing

MGNREGA 2005 was initiated with the aim to

provide

(1)  Employment

(2)  Health Facilities
(3)  Education Facilities
(4)  Irrigation Facilities

Which service is not related to the basic
infrastructure.

(2) Education
(4) Banking

Communication
Irrigation

(1)
3)

100. What is the effect of unfavourable balance of

trade on Foreign Exchange Reserves?

(1) Itreduces
(2) Itincreases
(3) Noeffect
(4) Itremainssame

94.

95

96.

97.

98.

99,

J5 fefir feg faogramu fRd aat 8T a?
1) WMHesdd,Quadad, 99

2) WHESdd, U5 dd, 2T AT

3) QuJgas,usad,TTAT

4) wHEsId,QuT9IaT, usaT

gz o fauar g dedt gad?

(1) »w. gt mret (2) wva. =t mmer.
(3) #ag.Ftoue. At (4) wMret. /ot /it et

e fagsT 439 9, fan feg aeadt rrust €t 293

F9d §3uEs T HETI?

(1) HeTHIT (2) G EC)

(3) HEBH3T (4) fegtuss
natedt st e fea e (33)J1

(1) femaes (2) HOSHOA MTHES

garfemr fapnr?

I5 fedn et fe S faost Fenuag3 €9 &8
HEU3 &dta?

(1) HI9
(3) fAgret

100. YSg® TUT TGl € q96 feoH! HedT oF 3 &t

ygre ierd?

(1) ot @ty
(2) =urgerd
(3) qEtyg=adt
(4) PHEIfTeTT




	Punjab NTSE Stage I_MAT
	Punjab NTSE Stage I_SAT

